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FUNDAMENTALS OF FOOD BIOCHEMISTRY

(Paper–313)

(Semester–III)

Time : Three Hours] [Maximum Marks : 74

Note : Attempt two questions each from Section A & B carrying
11 marks each and the entire Section C consisting of
15 short answer type questions carrying 2 marks
each.

SECTION—A

I. Describe changes in carbohydrates on cooking. 11

II. Discuss Metabolic pathway-Glycolysis in detail. 11

III. Write a note on enzymatic and non-enzymatic browning.
11

IV. Write down the application of enzymes in food technology.
11

SECTION—B

V. Describe various antioxidants in foods and their functions.
11
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VI. Describe following flavour enhancers :

(a) Monosodium glutamate.

(b) 5-nucleotides.

(c) Maltol. 4+4+3=11

VII. Explain following natural pigments in food :

(a) Tannins.

(b) Flavonoids.

(c) Carotenoids. 3+4+4=11

VIII. Explain enzymatic and non-enzymatic inhibition mechanism
in detail. 5½+5½=11

SECTION—C

(Compulsory Question)

IX. Write short notes on the following :

1. Apoenzyme.

2. Caramelization.

3. Coenzymes.

4. Flow chart of Sources of Proteins.

5. Free Radicals.

6. Functions of 5-nucleotides.

7. Gelatinization.

8. Lineweaver-Burk plot.
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9. Lipid peroxidation.

10. Maillard reaction.

11. Primary Proteins.

12. Prosthetic group.

13. Tannins.

14. Texturization.

15. Types of natural pigments in food. 15×2=30
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PUNJABI VERSION

not : Bwg A Aqy B ivcoN do-do pRSn kro[ hryk pRSn dy
11 AMk hn[ Bwg C swrw kro[ ies ivc 15 sMKyp au~qr
vwly pRSn 2-2 AMkW dy hn[

Bwg—A

I. pkwaux 'qy kwrbohweIfrytW ivc qbdIlIAW dw vrxn
kro[ 11

II. Awhwr-pwck mwrg glweIsoiss dI ivsQwr ivc crcw
kro[ 11

III. rswiexI KmIrI (Enzymatic) Aqy Ax-rswiexI KmIrI
brwaUinMg 'qy iek not ilKo[ 11

IV. Bojn qknwlojI ivc rswiexI KmIrW dI vrqoN bwry
ilKo[ 11

Bwg—B

V. Bojn ivc v`K-v`K AwksIroDIkW Aqy auhnW dy kwrjW dw
vrxn kro[ 11

VI. hyT ilKy sugMDI vDwaux vwilAW dw vrxn kro :

(a) monosofIAm glutwmyt[

(b) 5-inauklIautweIf[

(c) mwltol[ 4+4+3=11
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VII. Bojn ivc hyT ilKy kudrqI rMg cwVx vwly pdwrQW dI
ivAwiKAw kro :

(a) tYinn[

(b) Plyvonoiefz[

(c) kYrotynwiefz[ 3+4+4=11

VIII. rswiexI KmIrI Aqy Ax-rswiexI KmIrI rok bxqr dI
ivsQwr ivc ivAwiKAw kro[ 5½+5½=11

Bwg—C

(lwzmI pRSn)

IX. hyT iliKAW 'qy sMKyp not ilKo :

1. AYpoAYnzweIm[

2. kwrmylIjySn[

3. sih-rswiexI KmIr[

4. pRotInW dy sroqW dw PloA cwrt[

5. PrI rYfIkl[

6. 5-inauklIEtweIfz dy kMm[

7. jYlyitnweIjySn[

8. lweInvIvr-brk plwt[
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9. ilipf prAwksIfySn[

10. mylwrf pRqIikirAw[

11. muFly pRotIn[

12. prosQYitk gru`p[

13. tYinn[

14. buxweIkrn[

15. Bojn ivc kudrqI rMg cwVx vwly pdwrQW dIAW
iksmW[ 15×2=30

——————


